
Soustraction Pâques (H)Obtenez un papillon pour chaque réponse correcte. Papillon obtenu: _____/2542 110 104 132 75- 19 - 56 - 55 - 54 - 35
90 131 138 125 56- 65 - 81 - 77 - 37 - 38

159 147 100 43 87- 71 - 82 - 3 - 1 - 69
72 118 141 46 104- 10 - 55 - 74 - 9 - 75
32 143 119 90 151- 15 - 71 - 97 - 46 - 93
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Soustraction Pâques (H) RéponsesObtenez un papillon pour chaque réponse correcte. Papillon obtenu: _____/2542 110 104 132 75- 19 - 56 - 55 - 54 - 3523 54 49 78 40
90 131 138 125 56- 65 - 81 - 77 - 37 - 3825 50 61 88 18

159 147 100 43 87- 71 - 82 - 3 - 1 - 6988 65 97 42 18
72 118 141 46 104- 10 - 55 - 74 - 9 - 7562 63 67 37 29
32 143 119 90 151- 15 - 71 - 97 - 46 - 9317 72 22 44 58
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